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3131 AP FSe, TGt - AstenA

f2.39.03.209¢ 3RR 3ERE AR

W5 A1 1A - 9e- (ot - 3)

arget dAlcteb (900 TID)

SC ST VJA NTB NTC NTD SBC OBC | OPEN
o 13% 7 % 3% 2.5% 3.5% 2% 2% 19 % 48 %
FoR 16 2 1 0 0 1 1 0 3 8
ctelt ue 6 1 1 0 0 0 0 0 1 3
Raeaw 10 1 0 0 0 1 1 0 2 5
3@%’(& 10 1 0 0 0 1 1 0 2 5
forgetear foftes (ARA) (98 cered)
SC ST VIA NTB NTC NTD SBC OBC | OPEN
o 13% 7 % 3% 2.5% 3.5% 2% 2% 19% 48 %
ai@zué 13 2 1 0 1 1 0 0 2 6
ctelt ue 10 2 0 0 1 0 0 0 2 5
Reaw 3 0 1 0 0 1 0 0 0 1
3@%’(& 3 0 1 0 0 1 0 0 0 1
et foftes (/&) (900 caad)
SC ST VIA NTB NTC NTD SBC OBC | OPEN
o 13% 7 % 3% 2.5% 3.5% 2% 2% 19% 48 %
ai@zué 19 2 1 1 0 1 0 1 4 9
Rctett ue 4 0 1 0 0 0 0 1 0 2
Reaw 15 2 0 1 0 1 0 0 4 7
3@%’(& 15 2 0 1 0 1 0 0 4 7
HABRRD AAATGTD (900 TID)
SC ST VIA NTB NTC NTD SBC OBC | OPEN
o 13% 7 % 3% 2.5% 3.5% 2% 2% 19% 48 %
ai@zué 16 2 1 1 0 1 0 0 3 8
Rctett ue 3 0 1 0 0 0 0 0 0 2
Reaw 13 2 0 1 0 1 0 0 3 6
3@%’(& 13 2 0 1 0 1 0 0 3 6
3iceta afiRgEen
TS AT (90 TIb)
SC ST VJA NTB NTC NTD SBC OBC | OPEN
o 13% 7 % 3% 2.5% 3.5% 2% 2% 19% 48 %
FoR W 8 1 1 0 0 0 0 0 2 4
#etett ue 6 1 0 0 0 0 0 0 1 4
Raaw 2 0 1 0 0 0 0 0 1 0
3N 2 0 1 0 0 0 0 0 1 0
Ik ot (A=) (98 cad)
SC ST VJA NTB NTC NTD SBC OBC | OPEN
o 13% 7 % 3% 2.5% 3.5% 2% 2% 19% 48 %
FoR W 1 0 0 0 0 0 0 0 0 1
#etett ue 0 0 0 0 0 0 0 0 0 0
Raeaw 1 0 0 0 0 0 0 0 0 1
AN 1 0 0 0 0 0 0 0 0 1




IR foftes (faet) (99 ereb)

SC ST VJA NTB NTC NTD SBC OBC OPEN
T 139 7% 3% 25% | 3.5% 2% 2% 19% | 48%
FoR | 2 1 0 0 0 0 0 0 0 1
IR 1 0 0 0 0 0 0 0 0 0 0
R @ 2 1 0 0 0 0 0 0 0 1
AW 2 1 0 0 0 0 0 0 0 1
forgetear foftes (A=) (99 eared)
SC ST VJA NTB NTC NTD SBC OBC OPEN
T 139 7% 3% 25% | 3.5% 2% 2% 19% | 48%
AR | 2 1 0 0 0 0 0 0 0 1
IR 1 1 1 0 0 0 0 0 0 0 0
R @ 1 0 0 0 0 0 0 0 0 1
AW 1 0 0 0 0 0 0 0 0 1
JIC - &b (TBBIA)
SC ST VJA NTB NTC NTD SBC OBC OPEN
T 139 7% 3% 25% | 3.5% 2% 2% 19% | 48%
FoR | 77 11 5 2 1 4 1 1 14 38
IR 1 30 5 3 0 1 0 0 1 4 16
R @ 47 6 2 2 0 4 1 0 10 22
AW 47 6 2 2 0 4 1 0 10 22
T A Ml - Ie-8 (AN-B)
3131 Aay fstot, AR
c=tst Al - 8 (900 Terd)
SC ST VIJA NTB NTC NTD SBC OBC OPEN
T | 139 7% 3% 25% | 35% 2% 2% 19% | 48%
AR ® 107 14 8 3 3 4 2 2 20 51
IR R 95 14 8 3 1 4 2 1 11 51
R @ 12 0 0 0 2 0 0 1 9 0
I 12 0 0 0 2 0 0 1 9 0
31341 Fay fet, fis
datst 2ot - 8 (900 TaD)
SC ST VJA NTB NTC NTD SBC OBC OPEN
T 139 7% 3% 25% | 3.5% 2% 2% 19% | 48%
FoR | 164 22 11 5 4 6 3 3 31 79
IR 1 101 10 5 5 4 6 3 3 15 50
R @ 63 12 6 0 0 0 0 0 16 29
AW 63 12 6 0 0 0 0 0 16 29
3131 Jay faeto, aies
c=tst Al - 8 (900 cerd)
SC ST VIJA NTB NTC NTD SBC OBC OPEN
| 139 7% 3% 25% | 35% 2% 2% 19% | 48%
AR ® 102 13 7 3 2 4 2 2 20 49
IR 82 8 5 3 2 3 2 2 11 46
R @ 20 5 2 0 0 1 0 0 9 3
I 20 5 2 0 0 1 0 0 9 3




800 B 31.%.fa. Pract

IS Aot - 8 (900 cFdb)

SC ST VJA NTB NTC NTD SBC OBC OPEN
= 1% 7% 3% | 25% | 35% | 2% 2% 19% | 48%
R @ 53 7 4 2 1 2 1 1 10 25
st T 30 5 3 2 0 1 1 0 5 13
Rea @@ 23 2 1 0 1 1 0 1 5 12
I 23 2 1 0 1 1 0 1 5 12
Bo0BH A.B.[. HHRIW@
aEt 8iott - 8 (900 TED)
SC ST VIJA NTB NTC NTD SBC OBC OPEN
= 1% 7% 3% | 25% | 35% | 2% 2% 19% | 48%
FoR @ 23 3 2 1 1 1 0 0 4 11
RO T 9 1 2 0 1 1 0 0 0 4
Rea @ 14 2 0 1 0 0 0 0 4 7
I 14 2 0 1 0 0 0 0 4 7
U HISR & FTHAGEG
HISR FAGCE(A
SC ST VIJA NTB NTC NTD SBC OBC OPEN
= 1% 7% 3% | 25% | 35% | 2% 2% 19% | 48%
FoR @ 3 1 0 0 0 0 0 0 0 2
RO T 2 1 0 0 0 0 0 0 0 1
Rea @ 1 0 0 0 0 0 0 0 0 1
I 1 0 0 0 0 0 0 0 0 1
UHS HiSR &b ITHAEIEE
BRI
SC ST VJA NTB NTC NTD SBC OBC OPEN
= 3% 7% 3% | 25% | 35% | 2% 2% 19% | 48%
TR @ 4 1 0 0 0 0 0 0 1 2
st T 0 0 0 0 0 0 0 0 0 0
Rea @@ 4 1 0 0 0 0 0 0 1 2
I 4 1 0 0 0 0 0 0 1 2
IE - 3 (THHKA)
SC ST VJA NTB NTC NTD SBC OBC OPEN
= 1B3% 7% 3% | 25% | 35% | 2% 2% 19% | 48%
TR @ 456 61 32 14 11 17 8 8 86 219
st T 319 39 23 13 8 15 8 6 42 165
Rea @@ 137 22 9 1 3 2 0 2 44 54
I 137 22 9 1 3 2 0 2 44 54
€ - HAS (THHQA)
SC ST VIJA NTB NTC NTD SBC OBC OPEN
| 13% 7% 3% | 25% | 35% | 2% 2% 19% | 48%
TR @ 533 72 37 16 12 21 9 9 100 257
sROtE T 349 44 26 13 9 15 8 7 46 181
Rea @@ 184 28 11 3 3 6 1 2 54 76
I 184 28 11 3 3 6 1 2 54 76




PRI, oA fgd uRwo HUsht Fifa.
31341 Hag Hset, Wbt - oo

12.39.03.209¢ 3RR AR FAfEdR
UGIGSTelt - 91~ (ot - 3)
forgetear foftes (=) (90 cad)
SC ST VIA NTB NTC NTD SBC OPEN
e 13% 7% 3% 2.5% 3.5% 2% 2% 67 %
FoR @@ 2 1 0 0 0 0 0 0 1
sReteht ua 0 0 0 0 0 0 0 0 0
Raa @ 2 1 0 0 0 0 0 0 1
3 2 1 0 0 0 0 0 0 1
Ik [aftes (A=) (¢ eap)
SC ST VIA NTB NTC NTD SBC OPEN
e 13% 7% 3% 2.5% 3.5% 2% 2% 67 %
FR @ 7 0 1 0 1 0 0 0 5
sReteht ue 6 0 0 0 1 0 0 0 5
Raa @ 1 0 1 0 0 0 0 0 0
3 1 0 1 0 0 0 0 0 0
IR ot (faet) (¢8 ed)
SC ST VIA NTB NTC NTD SBC OPEN
e 13% 7% 3% 2.5% 3.5% 2% 2% 67 %
FoR T 13 2 1 0 0 1 0 0 9
#Reteht ue 1 0 0 0 1 0 0 7
Raa @ 1 1 0 0 0 0 0 2
3 1 1 0 0 0 0 0 2
dstst 9ol - 9 (900 D)
SC ST VIA NTB NTC NTD SBC OPEN
e 13% 7% 3% 2.5% 3.5% 2% 2% 67 %
FR T 81 10 6 2 2 3 2 2 54
#Roteht ue 2 0 0 0 0 0 0 0 2
Raa @ 79 10 6 2 2 3 2 2 52
3 79 10 6 2 2 3 2 2 52
ctst 2ot - R (900 cad)
SC ST VIA NTB NTC NTD SBC OPEN
e 13% 7% 3% 2.5% 3.5% 2% 2% 67 %
FoR 1@ 15 2 1 1 0 1 0 0 10
sReteht ue 5 2 1 0 0 0 0 0 2
Raa @ 10 0 0 1 0 1 0 0 8
3 10 0 0 1 0 1 0 0 8




==t 9t - 3 (900 TaRb)

sc ST VJA NTB NTC NTD SBC OPEN
= 13% 7 % 3% 2.5% 3.5% 2% 2% 67 %
FAR W 38 5 3 1 1 1 1 1 25
#RAEH Us 31 5 3 1 1 1 1 1 18
Raaw 7 0 0 0 0 0 0 0
3N 7 0 0 0 0 0 0 0 7
ai¥ss AEetes ({0 Tad)
sC ST VJA NTB NTC NTD SBC OPEN
= 13% 7 % 3% 2.5% 3.5% 2% 2% 67 %
FAR W 72 10 5 2 2 3 1 1 48
#RAEH U 72 10 5 2 2 3 1 1 48
Raaw 0 0 0 0 0 0 0
3N 0 0 0 0 0 0 0
ATt (900 TID )
sC ST VJA NTB NTC NTD SBC OPEN
= 13% 7 % 3% 2.5% 3.5% 2% 2% 67 %
FAR W 148 19 10 5 4 5 3 3 99
#RAE Us 72 10 5 1 2 1 3 2 48
Raaw 76 9 5 4 2 4 0 1 51
3N 76 9 5 4 2 4 0 1 51
IE - B (THHA)
sc ST VJA NTB NTC NTD SBC OPEN
= 13% 7 % 3% 2.5% 3.5% 2% 2% 67 %
FAR W 376 49 27 11 10 14 7 7 251
#RAE Us 197 28 14 6 5 4 130
Raaw 179 21 13 8 2 3 121
3N 179 21 13 7 8 2 3 121




